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Nms: Jara: Ounenka:
3 4 1 3
Z 4+ = — 4+ - =
7 7 3 2
4 7 6 7
— 4+ - = — 4 — =
g8 2 7 6
1 1 4 1
6 9 3 6
I 1 5 3
4 5 9 2
6 3 3 3
9 8 9 9
1 3 1 5
6 6 5 7
6 5 5 6
—+ = — 4 - =
9 4 8 4
4 4 3 2
— 4+ - = — 4 - =
7 8 4 7
4 3 1 4
—+ = — 4 - =
9 9 2 3
5 7 7 5
4+ - = — 4 - =
6 2 6 8
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CIIOXKeHHUe JIpo0Oeit (mpaBuiibHasE APOOB)
(HenpaBUIIbHAS APOOB)

Nwms: Jlara: Oruenka:
3 4 1 3 11 5
=1 +I=— =12
77 3 2 6 6
4 7 6 7 &85 1
—+-=4 -t —-—=—=2—
g8 2 7 6 42 42
1 1 5 4 1 3 1
= —t-==1=
6 9 18 3 6 2 2
1 1 9 5 3 37 1
S -= S+l
4 5 20 9 2 18 18
6 3 25 1 3 3 2

—rs === 4 ==

9 8 24 24 9 9 3

1 3 2 1 5 32

—_+ == 4+ ==

6 6 3 5 7 35

6 5 23 11 5 6 17 1
—t—-=—=1— —+-=—=2-
9 4 12 12 8 4 8 8
4 4 15 1 3 2 29 1
o= =1— T+l
7 8 14 14 4 7 28 28
4 3 7 1 4 11 5
4= e
9 9 9 2 3 6 6
5 7 13 1 7 5 43 19
T4l = 4o e
6 2 3 3 6 8 2 24
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